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ABSTRACT

The purpose of this project is to design and experimentally bringing exhaust to
usefulness. By using knowledge of machine design, fluid mechanics and thermodynamics. This
circle same with power circle.

The result of production; state 3 after pass boiler have temperature is 98.63 Celsius,
pressure is 318.81 kPa and entropy is 252.62 kJ/kg. State 4 after pass turbine have temperature is
74.21 Celsius, pressure is 205.91 kPa and entropy is 237.27 kJ/kg. Stare 1 after pass condenser
have temperature is 60.95 Celsius, pressure is 205.91 kPa and entropy is 228.53 kJ/kg. State 2
after pass compressor have temperature is 83.41 Celsius, pressure is 318.81 kPa and entropy is
242.28 kl/kg.

Power that compressor is 950 watt and power that turbine is 1,060 watt.





